



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 5th Semester Section-A Morning Session: Autumn 2025

Registration #	Name	MT341					SE111					SE219					SE3112					SE317					SE322				
		Multivariable Calculus					Programming Fundamentals (C)					Software Engineering					Analysis of Algorithms					Artificial Intelligence					Software Construction and Development				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-A-0001	Abdul Basit Khan	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	43	F	-	3	-	75	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0003	Adnan Ali	65	C+	2.5	3	7.5	-	-	-	-	-	68	C+	2.5	3	7.5	23	F	-	3	-	53	D	1.5	3	4.5	77	B+	3.5	3	10.5
B.S SE Aut-2023-M-A-0004	Agha Zulkifal Nadeem	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	64	C	2.0	3	6.0	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0005	Aleeza Akhtar	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	64	C	2.0	3	6.0	86	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0006	Anjum Shakeel	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	25	F	-	3	-	63	C	2.0	3	6.0	74	B	3.0	3	9.0	
B.S SE Aut-2023-M-A-0008	Ayesha Bint-E-Masood	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	85	A	4.0	3	12.0	97	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0009	Ayla Ibrar (Withheld due to Fee De						-	-	-	-	-	-	-	-	-																
B.S SE Aut-2023-M-A-0010	Chaudhary Abdul Rafay	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	72	B	3.0	3	9.0	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0011	Fahad Afridi	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	53	D	1.5	3	4.5	51	D	1.5	3	4.5	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0012	Faizan Khan Jadoon	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	58	C	2.0	3	6.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0013	Kanwal Wajid	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	60	C	2.0	3	6.0	95	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0014	Malaika Laraib Ashraf (Withheld du						-	-	-	-	-	-	-	-	-																
B.S SE Aut-2023-M-A-0015	Malik Abdul Rahman Bin Saleem	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	66	C+	2.5	3	7.5	79	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0016	Maryam Akhtar	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	84	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0017	Muhammad Abbas Khan	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0019	Muhammad Faheem	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	62	C	2.0	3	6.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0021	Muhammad Hashir Kayani (Withthe						-	-	-	-	-	-	-	-	-																
B.S SE Aut-2023-M-A-0022	Muhammad Hassan Mujtaba	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	81	A	4.0	3	12.0	97	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0023	Muhammad Shayan Haider	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	58	C	2.0	3	6.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0024	Muhammad Sohaib Nisar	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	81	A	4.0	3	12.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0025	Muhammad Zakir	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	42	F	-	3	-	74	B	3.0	3	9.0	
B.S SE Aut-2023-M-A-0026	Muhammad Zubair	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	61	C	2.0	3	6.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0027	Muhammad Zubair Shafique	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	60	C	2.0	3	6.0	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0028	Nabeel Ahmed	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	61	C	2.0	3	6.0	79	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0029	Omama Sajjad	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	92	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0030	Saad Altaf	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	59	C	2.0	3	6.0	90	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0031	Saad Jeelani	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	73	B	3.0	3	9.0	90	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0032	Saaliyah Naz	53	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	42	F	-	3	-	93	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0034	Shamsa Ameer	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	56	C	2.0	3	6.0	78	B+	3.5	3	10.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 5th Semester Section-A Morning Session: Autumn 2025

		SE3331					SE335				
		Object Oriented Software Engineering					HCI & Computer Graphics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-A-0001	Abdul Basit Khan	58	C	2.0	3	6.0	37	F	-	3	-
B.S SE Aut-2023-M-A-0003	Adnan Ali	45	F	-	3	-	50	D	1.5	3	4.5
B.S SE Aut-2023-M-A-0004	Agha Zulkifal Nadeem	70	B	3.0	3	9.0	60	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0005	Aleeza Akhtar	50	D	1.5	3	4.5	70	B	3.0	3	9.0
B.S SE Aut-2023-M-A-0006	Anjum Shakeel	51	D	1.5	3	4.5	55	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0008	Ayesha Bint-E-Masood	70	B	3.0	3	9.0	96	A	4.0	3	12.0
B.S SE Aut-2023-M-A-0009	Ayla Ibrar (Withheld due to Fee De										
B.S SE Aut-2023-M-A-0010	Chaudhary Abdul Rafay	66	C+	2.5	3	7.5	71	B	3.0	3	9.0
B.S SE Aut-2023-M-A-0011	Fahad Afridi	65	C+	2.5	3	7.5	55	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0012	Faizan Khan Jadoon	52	D	1.5	3	4.5	55	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0013	Kanwal Wajid	76	B+	3.5	3	10.5	43	F	-	3	-
B.S SE Aut-2023-M-A-0014	Malaika Laraib Ashraf (Withheld du										
B.S SE Aut-2023-M-A-0015	Malik Abdul Rahman Bin Saleem	61	C	2.0	3	6.0	55	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0016	Maryam Akhtar	67	C+	2.5	3	7.5	75	B+	3.5	3	10.5
B.S SE Aut-2023-M-A-0017	Muhammad Abbas Khan	70	B	3.0	3	9.0	71	B	3.0	3	9.0
B.S SE Aut-2023-M-A-0019	Muhammad Faheem	66	C+	2.5	3	7.5	56	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0021	Muhammad Hashir Kayani (Withthe										
B.S SE Aut-2023-M-A-0022	Muhammad Hassan Mujtaba	67	C+	2.5	3	7.5	90	A	4.0	3	12.0
B.S SE Aut-2023-M-A-0023	Muhammad Shayan Haider	55	C	2.0	3	6.0	65	C+	2.5	3	7.5
B.S SE Aut-2023-M-A-0024	Muhammad Sohaib Nisar	65	C+	2.5	3	7.5	86	A	4.0	3	12.0
B.S SE Aut-2023-M-A-0025	Muhammad Zakir	53	D	1.5	3	4.5	55	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0026	Muhammad Zubair	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5
B.S SE Aut-2023-M-A-0027	Muhammad Zubair Shafique	66	C+	2.5	3	7.5	50	D	1.5	3	4.5
B.S SE Aut-2023-M-A-0028	Nabeel Ahmed	65	C+	2.5	3	7.5	58	C	2.0	3	6.0
B.S SE Aut-2023-M-A-0029	Omama Sajjad	66	C+	2.5	3	7.5	66	C+	2.5	3	7.5
B.S SE Aut-2023-M-A-0030	Saad Altaf	59	C	2.0	3	6.0	51	D	1.5	3	4.5
B.S SE Aut-2023-M-A-0031	Saad Jeevani	70	B	3.0	3	9.0	66	C+	2.5	3	7.5
B.S SE Aut-2023-M-A-0032	Saalihah Naz	52	D	1.5	3	4.5	51	D	1.5	3	4.5
B.S SE Aut-2023-M-A-0034	Shamsa Ameer	66	C+	2.5	3	7.5	60	C	2.0	3	6.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 5th Semester Section-A Morning Session: Autumn 2025

Registration #	Name	MT341					SE111					SE219					SE3112					SE317					SE322				
		Multivariable Calculus					Programming Fundamentals (C)					Software Engineering					Analysis of Algorithms					Artificial Intelligence					Software Construction and Development				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-A-0035	Sheraz Masroor	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	60	C	2.0	3	6.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0036	Shoaib Akhtar	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	60	C	2.0	3	6.0	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0037	Sikandar Khan	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	51	D	1.5	3	4.5	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0038	Syed Muhammad Murtaza	64	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	59	C	2.0	3	6.0	92	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0039	Syed Muhammad Nauman Shah	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	23	F	-	3	-	40	F	-	3	-	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0040	Syed Rehan Hamdani	73	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	60	C	2.0	3	6.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0041	Syed Zohaib Abbas	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	63	C	2.0	3	6.0	83	A	4.0	3	12.0	
B.S SE Aut-2023-M-A-0042	Talha Amin	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	56	C	2.0	3	6.0	79	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0043	Umer Yaqoob	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	34	F	-	3	-	71	B	3.0	3	9.0	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0044	Waniya Khan	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	40	F	-	3	-	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-B-0082	Kashif Shazad	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	53	D	1.5	3	4.5	79	B+	3.5	3	10.5	
B.S SE Aut-2023-M-B-0092	Muhammad Rehan	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	79	B+	3.5	3	10.5	
B.S SE Aut-2023-M-B-0099	Rabia Bano	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	65	C+	2.5	3	7.5	90	A	4.0	3	12.0	
B.S SE Aut-2023-M-C-0128	Aiman Afzal	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	53	D	1.5	3	4.5	75	B+	3.5	3	10.5	95	A	4.0	3	12.0	
B.S SE Aut-2023-M-C-0139	Laiba Noor	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	53	D	1.5	3	4.5	79	B+	3.5	3	10.5	
B.S SE Aut-2023-M-C-0150	Muhammad Kumail	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	53	D	1.5	3	4.5	78	B+	3.5	3	10.5	
B.S SE Aut-2023-M-C-0152	Muhammad Saim Ali Sajid	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	59	C	2.0	3	6.0	77	B+	3.5	3	10.5	
B.S SE Aut-2023-M-C-0153	Muhammad Tashfeen Qureshi	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	63	C	2.0	3	6.0	67	C+	2.5	3	7.5	
B.S SE Aut-2023-M-C-0161	Sijee! Akhtar(Withheld due to Fee D						-	-	-	-	-	-	-	-																	
B.S SE Aut-2023-M-D-0193	Dilawar Ali	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	63	C	2.0	3	6.0	75	B+	3.5	3	10.5	
B.S SE Aut-2023-M-D-0232	Ayesha Imran	60	C	2.0	3	6.0	83	A	4.0	4	16.0	-	-	-	-	65	C+	2.5	3	7.5	76	B+	3.5	3	10.5	95	A	4.0	3	12.0	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 5th Semester Section-A Morning Session: Autumn 2025

		SE3331					SE335					
		Object Oriented Software Engineering					HCI & Computer Graphics					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S SE Aut-2023-M-A-0035	Sheraz Masroor	55	C	2.0	3	6.0	59	C	2.0	3	6.0	
B.S SE Aut-2023-M-A-0036	Shoaib Akhtar	51	D	1.5	3	4.5	75	B+	3.5	3	10.5	
B.S SE Aut-2023-M-A-0037	Sikandar Khan	44	F	-	3	-	50	D	1.5	3	4.5	
B.S SE Aut-2023-M-A-0038	Syed Muhammad Murtaza	56	C	2.0	3	6.0	61	C	2.0	3	6.0	
B.S SE Aut-2023-M-A-0039	Syed Muhammad Nauman Shah	60	C	2.0	3	6.0	27	F	-	3	-	
B.S SE Aut-2023-M-A-0040	Syed Rehan Hamdani	65	C+	2.5	3	7.5	67	C+	2.5	3	7.5	
B.S SE Aut-2023-M-A-0041	Syed Zohaib Abbas	55	C	2.0	3	6.0	67	C+	2.5	3	7.5	
B.S SE Aut-2023-M-A-0042	Talha Amin	56	C	2.0	3	6.0	71	B	3.0	3	9.0	
B.S SE Aut-2023-M-A-0043	Umer Yaqoob	72	B	3.0	3	9.0	61	C	2.0	3	6.0	
B.S SE Aut-2023-M-A-0044	Waniya Khan	58	C	2.0	3	6.0	50	D	1.5	3	4.5	
B.S SE Aut-2023-M-B-0082	Kashif Shazad	60	C	2.0	3	6.0	66	C+	2.5	3	7.5	
B.S SE Aut-2023-M-B-0092	Muhammad Rehan	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	
B.S SE Aut-2023-M-B-0099	Rabia Bano	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
B.S SE Aut-2023-M-C-0128	Aiman Afzal	67	C+	2.5	3	7.5	65	C+	2.5	3	7.5	
B.S SE Aut-2023-M-C-0139	Laiba Noor	44	F	-	3	-	61	C	2.0	3	6.0	
B.S SE Aut-2023-M-C-0150	Muhammad Kumail	65	C+	2.5	3	7.5	58	C	2.0	3	6.0	
B.S SE Aut-2023-M-C-0152	Muhammad Saim Ali Sajid	55	C	2.0	3	6.0	51	D	1.5	3	4.5	
B.S SE Aut-2023-M-C-0153	Muhammad Tashfeen Qureshi	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	
B.S SE Aut-2023-M-C-0161	Sijee Akhtar(Withheld due to Fee D											
B.S SE Aut-2023-M-D-0193	Dilawar Ali	55	C	2.0	3	6.0	61	C	2.0	3	6.0	
B.S SE Aut-2023-M-D-0232	Ayesha Imran	72	B	3.0	3	9.0	80	A	4.0	3	12.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026